=

CRAUYITQLYETIYFHARLNNITEOLH (YT HNETE- B "SHESHURYESH “EEIOT X
TG EREE \GROET X

Y—vEBEE (F)
0S9'6%E | €8L'LOL | L98'I¥T || Zek'Syl | 160'8E | LLE'LOL |[82Z'v0C |C€L'69 | 96¥'VEL | €89'6C1 | 09289 |€e¥' 19 | GHSVL |2i¥l £LO'EL 1=
ov8'séz |0 ovg8'sz || ooo's 0 000G ov8'oz |0 ovg'oz |0 0 0 ovg'oz |0 0v8'0c |EEHE
o1g'eze | esc'cor | czo'orz |zevors | 1co'se | 1ze'zor [ sse'sst |zer's9 | osoeil |eso'szt |ooz'ge | ezvlo |sores | euvl £€2'28 |EEHE

£ | &R (LB 12 |LmER— |LERY| f |SEH-— |YERY| |- |ElEEREYy| oM — o Ry
£ = (HlEoa) L et s $E = E e \J7 MBI OEXKTE-BL " HHE) ME ) BaL£EE ) = &
(HHL B T)e)
[(EFEEH]

ZERBUEETLTHHEFARTEFSCHE 1




